
DR1423
300CFX - Ultra Main Frame Plate

DR1425
300CFX - Stifferner

DR1426
300CFX - Break Away Canopy Support

5xTCEM2X6
Hex Cup Screw M2X6
Loctite 242 when install frame support

Step 1

DR1424
300CFX - Ultra Bottom Plate

4xDR0266
Frame C Washer M2 

4xTCEM2X8
Hex Cup Screw M2X8
Loctite 242

DR1402
300CFX Universal Motor Mount

Frame support (standard)

Step 2

2xTBEM3X6
Bottom Hex Cup Screw M3X6
Loctite 242 when install with motor

LYNX MANUAL DOC .REV .A 12-08-2014
LX1184 300CFX - Lynx Ultralight Main Frame Set    

HELI  INNOVATIONS


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


